4% %8 / External View

10

ON

|

|

@

L1 ugll

=/ =/
110

o

1 r|
- L]

4-@19

150

70

15

R AZA / Components

No. % ¥R / Part name #E / Pcs #E / Material - REALIE / Color-Finish
F18— 1 FILZHR A1100P t1.0 SILN=T LA+
Cover Aluminium A1100P t1.0 Silver anodized
Iv— 1 7 LE4R A1100P t1.0 TIvy- %

Base Aluminium A1100P t1.0 Black*Painted
L2 / Rubber feet &R L / Rubber 7594 / Black
BFER (MR M3 x 5) b5 =y ILAYF
Screw (Truss head M3 - 5) Brass Nickel plated
Ty —(M3FA) 8 B ZOTILAYE
Washer (M3) Brass Nickel plated
BAER (FX M3 x 10) 4 &% =fEoni—k
Screw (Pan head M3 - 10) Steel Trivalent chromate

«

ma /Title
BRRMIHNFEHTE (B8 — 2 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. SLOPED CASE
752/ Approved 1% [X|/Checked #IX]/Created B F /Product number RE/Scale
TS11-15 125
iR XL T H L3
{ERL H /Date 2022/05/27




$7\— / Cover

(153.9)

35

15

4-@45

2-@4.5
o
~
O
o
5
4 /Title
TAKACHI| #X&#tshFERTE BRI — R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. SLOPED CASE
7 &R/ Approved 1% [X|/Checked #IX]/Created B F /Product number RE/Scale
TS11-15 12
iR KL 1#H ) ) 3

{EBL B /Date 2022/05/27




<¥— / Base

o o|©°
4-M3N—=Y G BT
4-M3 Burring
o 0| ¢
10 R o
2-M3/N\—=) 25 ayT
- 2-M3 Burring o
L — )
e
bt [Te)
N T - ,,(/
= 5 1 5 =
110 147.9 ‘ .
2-M3NN—12 5 By T
2-M3 Burring
o oS
4-M3/NN—1) 25 BT
4-M3 Burring
fnd/Title
TAKACHI| #X&#tshFERTE BRI — R O]
° o TAKACHI ELECTRONICS ENCLOSURE CO., LTD. SLOPED CASE
752/ Approved 1% [X|/Checked #IX]/Created B F /Product number RE/Scale
TS11-15 12
iR KiL 1 H 3 ) 3
YR B /Date 2022/05/27




